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Haryana Staff Selection Commission

Notations:
1.Options showr in green color and with W iron are correct.

2 Options shown in red color and with # icon are incorrect.

Subject Name: CAT 2 Steno Typist Hindi CET Examn
Total Marks: 200

Display Marks: Yes

Calculator: None

Magnifying Glass Required?: No

Ruler Required?: No

Eraser Required?: No

Scratch Pad Required?: No

Rough Sketch/Notepad Required?: No

Protractor Required?: No

CAT 2 Steno Typist Hindi CET Exam
Group Marks: 200

CAT 2 5teno Typist Hindi CET Exam

Section Marks: 200
Display Number Panel: Yes
Group All Questions: No

Question Number : 1 Question Id : 168000301 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The Bohar inscription, which refers to Harivanak, pertains to the period of:
Options:

1 % Iltutmish

> « DBalban

3z % Razia

4 % Alauddin

Question Number : 1 Question Id : 168000301 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

CAT 2 Steno Typist Hindi CBT 9th Nov 2017 Shift 1



CAT 2 Steno Typist Hindi CBT 9th Nov 2017 Shift 1

d1gT oo, 3 e laas # 52T Fiar g, e Fa ¥ geog g7

Options:

| FogAmE
> v S
3 % ED

4.%-‘%%

Question Number : 2 Question Id : 168000302 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following sources traces the origin of the word Harvana from Hari, the name of the God?

Options:
1 % Skanda Purana

» % Harivamsa Purana

-  Palam Baoli inscription

4 % Shridhar’s Pasanaha Chariu

Question Number : 2 Question Id : 168000302 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Question Number : 3 Question Id : 168000303 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The first battle of Battles of Taraori took place in the year:

Options:
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; ® 1190
5 o 1191
5 % 1192

4 % 1193

Question Number : 3 Question Id : 168000303 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T3 F & S g IE FhE I H FFT AT AT?

Options:

% 1190

- 1191
2 % 1192

L % 1193

Question Number : 4 Question Id : 168000304 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Who among the following persons invited George Thomas to raise a battalion of 1,000 regular army?
Options:
1« Apa Khande Rao

> % Gajpat Singh
- % Mahadji

4 % Sahib Kaur

Question Number : 4 Question Id : 168000304 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Options:
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Question Number : 5 Question Id : 168000305 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

What was estimated to be the fiscal deficit of Haryana for FY 2016-17 as per the 2017 state budget?
Options:

1 & 2.49%

> ® 3.5%

2 % 1.9%

4 % 2.83%

Question Number : 5 Question Id : 168000305 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

a¥ 2017 & =T 5 & AR fAedid a¥ 2016-17 H A0 & T a¢ & fodar e
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Options:

| @ 2.49%
5 % 3.5%
2 % 1.9%

. % 2.83%

Question Number : 6 Question Id : 168000306 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which among the following was NOT one of the prizes given to craftpersons at the 315 Surajkund Mela?
Options:

1 % Kala Nidhi

- « Kala Shiromani

= % Kala Mani

4 % Kala Shri

CAT 2 Steno Typist Hindi CBT 9th Nov 2017 Shift 1



CAT 2 Steno Typist Hindi CBT 9th Nov 2017 Shift 1

Question Number : 6 Question Id : 168000306 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Options:
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Question Number : 7 Question Id : 168000307 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The country’s first digital investigation centre has been established in the district of Haryana.
Options:
1 % Karnal

> % Somnipat

5 % Mahendragarh

4 Gurugram

Question Number : 7 Question Id : 168000307 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Options:
1 #® CXGIEE

Question Number : 8 Question Id : 168000308 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

What is the name of the online portal launched by the Haryana Government for the procurement of paddy?
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Options:
1 ® e-sewa
- % e-bazzar

3 o e-kharid

4 % e-sandesh

Question Number : 8 Question Id : 168000308 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Options:

Question Number : 9 Question Id : 168000309 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following poems was written by Subhash Rastogi?

Options:
, « DBayaan Mausam Ka

- % Tumhare Pahnaye Pankh

- u Hashiye Par Lage Nishaan

, % Aandhiyo Ke Daur Mein

Question Number : 9 Question Id : 168000309 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

frafof@a & @ Fla-dr wfaar gaw et qanr o o8 22
Options:
| v O FEH F
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Question Number : 10 Question Id : 168000310 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The story “Muskan Ka Dard” was written by:

Options:
1 % Chandrakanta
-~ % RanaPratap Singh

= « Madan Sharma Rakesh

4 % Urmi Krishna

Question Number : 10 Question Id : 168000310 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

FEA “HEFI H g F AT &

Options:

1. % Hgehldl

Question Number : 11 Question Id : 168000311 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The novel “Dr. Damroo Gopal” was written by:
Options:
1 % Sansaar Chandra

- « Harish Chandra Verma
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- % Raghuveer Singh

4 % Madhav Kaushik

Question Number : 11 Question Id : 168000311 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Options:
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Question Number : 12 Question Id : 168000312 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which is the 227 (newly-created) district of Harvana?
Options:

s Jhajjar

> « Charkhi Dadri

z % Sirsa

4 & Nuh

Question Number : 12 Question Id : 168000312 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Options:
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Question Number : 13 Question Id : 168000313 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In most areas of Haryana there are conditions.
Options:
, « Dry and semi-arid

- % [lropical evergreen

- » [Iropical moist deciduous

4 % [Iropical dry evergreen

Question Number : 13 Question Id : 168000313 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Question Number : 14 Question Id : 168000314 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which one of the following animal is NOT found in Haryana?
Options:

1 % Jackal

> % Fox

= « Wolf

4 % Wild Boar
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Question Number : 14 Question Id : 168000314 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T # R # ¥ Si9-81 98T J81 93T AT 87
Options:
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Question Number : 15 Question Id : 168000315 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

‘What was the total budget size (approximately) of Harvana in the Budget presented for the financial vear 2016-20177?
Options:
, % < 80,563 crore

- ® < 85,645 crore
5 < 88,781 crore

4 % 90,486 crore

Question Number : 15 Question Id : 168000315 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

faedr 3 2016-2017 F o gvga 53 717 a=1e &1 N & Fo g1 (srETevET) Fram ar?

Options:

| » 780,563 T

. » 385,645 aE
. » 788,781 a1T

, » 90,486 FT

Question Number : 16 Question Id : 168000316 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Who was the second Governor of Haryana?
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Options:
1 % R.S.Narula

> % Jai Sukhlal
%z % Dharamvir

4  B- N. Chakraborty

Question Number : 16 Question Id : 168000316 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Options:
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Question Number : 17 Question Id : 168000317 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The Harvana Goverment will set up 1 lakh solar lighting systems under the:
Options:

. + Manohar Jyoti scheme

- % Atal Jyoti Yojana

- % Pradhan Mantri Jyoti Yojana

, % Mangal Nagar Vikas Yojana

Question Number : 17 Question Id : 168000317 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Options:
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Question Number : 18 Question Id : 168000318 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The Bharativa Janata Party (BJP) had an alliance with the in the 2014 assembly elections in Haryana.

Options:
% Samajwadi Party

> + Shiromani Akali Dal
3 % Bahujan Samaj Party

4 % Indian National Lok Dal

Question Number : 18 Question Id : 168000318 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Question Number : 19 Question Id : 168000319 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

HSPCB stands for:

Haryana State Control Board

Options:
1.« Pollution
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- % Population

5 = Project

4 % Poverty

Question Number : 19 Question Id : 168000319 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Question Number : 20 Question Id : 168000320 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Harvana forms the borders of Delhi.
Options:
| « northern, western and southern

> % Western, eastern and northern

= % northern and western

4 % western and eastern

Question Number : 20 Question Id : 168000320 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Options:
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Question Number : 21 Question Id : 168000321 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Haryana is located between (i) N latitude and between (i1) E longitude.
Options:

1 « (1) 27°37 and 30°35', (i) 74°28' and 77°36'

- % (i) 12°41"and 22°, (ii) 77° and 84°40'

s % (1) 17°46' and 24° 05', (i1) 80°15' and §4°20'

4 = (120°10" and 24° 70!, (ii) 68°40' and 70°40

Question Number : 21 Question Id : 168000321 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

g (i) . N efrer gor (i) E SoiaR & &= &g #

Options:

. (i) 27°37' 3 30°35, (ii) 74°28' 3R 77°36'
o« (i) 12°41" 307 22°, (i) 77° 3 84°40

.« (i) 17°46' 3T 24° 05', (i) 80°15' 3 84°20'

. () 20°10" 3i% 24° 70, (ii) 68°40' 3R 70°40°

Question Number : 22 Question Id : 168000322 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The Kartik Cultural festival is celebrated at which among the following places of Gurugram?
Options:
1 % Zafar Mahal

> # Jahaz Mahal
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-  Nahar Singh Mahal

4 % Moti Mahal

Question Number : 22 Question Id : 168000322 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Options:
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Question Number : 23 Question Id : 168000323 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The Mango Mela is celebrated at Yadavindra Gardens in:
Options:

,  Pinjore

- % Gondar

- % Bilaspur

4 % DBadhara

Question Number : 23 Question Id : 168000323 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Options:
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Question Number : 24 Question Id : 168000324 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The Geeta Jayanti Festival is celebrated in Kurukshetra during the month of:
Options:
, % May/June

- u February/March

= « November/December

4 % July/August

Question Number : 24 Question Id : 168000324 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Options:
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Question Number : 25 Question Id : 168000325 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which state was the Theme State for the 31 Surajkund International Crafts Mela 20177
Options:
% Rajasthan

1
=~ « Jharkhand
= % Uttar Pradesh

4 % Himachal Pradesh
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Question Number : 25 Question Id : 168000325 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Options:
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Question Number : 26 Question Id : 168000326 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Options:
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Question Number : 26 Question Id : 168000326 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Options:
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Question Number : 27 Question Id : 168000327 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Options:
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Question Number : 27 Question Id : 168000327 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Options:
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Question Number : 28 Question Id : 168000328 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

U7 AR 38 Fhd & Y F4: q
Options:

1 #% HAMER-9F
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Question Number : 28 Question Id : 168000328 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Options:
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Question Number : 29 Question Id : 168000329 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Options:
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Question Number : 29 Question Id : 168000329 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Options:
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Question Number : 30 Question Id : 168000330 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Options:
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Question Number : 30 Question Id : 168000330 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Options:
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Question Number : 31 Question Id : 168000331 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Options:

1 & A
2 ¢ B
o W &

4 % D

Question Number : 31 Question Id : 168000331 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Options:
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Question Number : 32 Question Id : 168000332 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Options:
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Question Number : 32 Question Id : 168000332 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Options:
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Question Number : 33 Question Id : 168000333 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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1 #® A
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Question Number : 33 Question Id : 168000333 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Options:
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Question Number : 34 Question Id : 168000334 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

SFATY F HJAR ‘FA-THAT F fov wgr fga gg=m:

Options:

Question Number : 34 Question Id : 168000334 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Options:
1.« A

Question Number : 35 Question Id : 168000335 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Question Number : 35 Question Id : 168000335 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Options:

| % ¥ S e =g b

. » TE ST ol =g ok

- » TE STeAaT =MgT

. % T8 T oA AEAT §

Question Number : 36 Question Id : 168000336 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Question Number : 36 Question Id : 168000336 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Options:
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Question Number : 37 Question Id : 168000337 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Options:
1.« A
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Question Number : 37 Question Id : 168000337 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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D.

Options:
1 ¢ A

Question Number : 38 Question Id : 168000338 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Question Number : 38 Question Id : 168000338 Display Question Number
Orientation : Vertical
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Options:

- Yes Single Line Question Option : No Option
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Question Number : 39 Question Id : 168000339 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Options:
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Question Number : 39 Question Id : 168000339 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Question Number : 40 Question Id : 168000340 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Options:
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Question Number : 40 Question Id : 168000340 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

‘TFOUH o H T Y g g oEr Sreen?

Options:
1 v A

Question Number : 41 Question Id : 168000341 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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D~ B

Options:

1_%1‘:\

Question Number : 41 Question Id : 168000341 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

'TIaT T - TEE

T ———
B, =S
Options:
1 ® A
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Question Number : 42 Question Id : 168000342 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

quT fRTAER - I T |

Options:

% B AT A E

. » B & W FEaT &
5« TE & AT E
, » T FETE

Question Number : 42 Question Id : 168000342 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T fATATER - colleroir

Options:

 w B EHATEE

, » B & FY THar &
. % TEr & HhaT &

, » TE BT E

Question Number : 43 Question Id : 168000343 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

IfE wara Y 7 97 1 3w TuReTr FFEE ¥ @ A I3 @ RAgER 38 Far g9er Seen?

Options:
1 0 5 B
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o R E’q-:qT:aT
3_%3 m.‘ m:m

4w L T EHT

Question Number : 43 Question Id : 168000343 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

IfE wara Y 7 97 1 3w TuReTr FFEE ¥ @ A I3 @ RAgER 38 Far g9er Seen?

Options:
105 B
2_ ® E’q-: qT: aT

z w @y, AL A

4 % L T, HT

Question Number : 44 Question Id : 168000344 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Fa Ry e §g B owe & s a2
Options:

L.
Egﬁ'ﬁ:ﬂﬂ
3_%%

g = ﬁﬂﬁa

Question Number : 44 Question Id : 168000344 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T Bl Ree &g B oue & w a2
Options:

Lo

z_gﬁ'ﬁ:ﬂﬂ'
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3 ® S r

g ﬁﬁﬁ?

Question Number : 45 Question Id : 168000345 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

oot R W S F s A
Options:

, v el g @A
o fFegra= wifgcy Twaea

. Tl Wieew @ way
s« T TRt ¥ wh

Question Number : 45 Question Id : 168000345 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

oot R S @ s A
Options:

| v BT WifEeT wEReE
" g wifgew wFde=

Question Number : 46 Question Id : 168000346 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Fill in the blanks in the sentence below with suitable articles. Choose yvour answer fiom the options given:

Deepa tasted birthday cake her mother had made and said that it was bit too sweet.
Options:
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, ® 8 the
e &
5  the. a

4 % an, the

Question Number : 46 Question Id : 168000346 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Fill in the blanks in the sentence below with suitable articles. Choose vour answer fiom the options given:

Deepa tasted birthday cake her mother had made and said that it was bit too sweet.
Options:
;% & the

> B d. d
5  the. a

4 % an, the

Question Number : 47 Question Id : 168000347 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Fill in the blanks in the sentence below with suitable articles. Choose your answer from the options given:

Mexico is prone to earthquakes and earlier this month 8.1 magnitude tremor in south left at least 90 dead.
Options:
|« an, the

5 % a. the
=z ® damn. a

4 % the, the

Question Number : 47 Question Id : 168000347 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Fill in the blanks in the sentence below with suitable articles. Choose your answer from the options given:

Mexico is prone to earthquakes and earlier this month 8.1 magnitude tremor in south left at least 90 dead.

Options:
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| « an, the
5 % a. the
T #® dn. a

4 % the, the

Question Number : 48 Question Id : 168000348 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Fill in the biank in the sentence below with a suitable modal verb. Choose vour answer from the options given:

If you wish to be contacted by a BBC journalist. please leave a telephone number that we contact vou on.
Options:
1 % should

> % may
z  can

4 % will

Question Number : 48 Question Id : 168000348 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Fill in the blank in the sentence below with a suitable modal verb. Choose vour answer from the options given:

If you wish to be contacted by a BBC journalist, please leave a telephone number that we contact you on.
Options:
1 % should

o ® may
o w0 Cdll

4 % will

Question Number : 49 Question Id : 168000349 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Read the sentence given below. The nouns in the sentence arve highlighted. From the options given, choose the fype of
noun each highlighted word is:

Harish was the smallest of the soldiers, but he had a look of determination and grit that warned his enemies to not take
him lightly.

Options:
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% collective noun, abstract noun

» % COmMinon noun, collective noun

3 % Proper noun, Comimonn nour

4 « abstract noun, abstract noun

Question Number : 49 Question Id : 168000349 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Read the sentence given below. The nouns in the sentence are highlighted. From the options given, choose the fype of
noun each highlighted word is:

Harish was the smallest of the soldiers, but he had a look of determination and grit that warned his enemies to not take
him lightly.

Options:

1 % collective noun. abstract noun

» % common noun, collective noun

3 % Proper noun, CoImimon nourn

4 + Aabstract noun, abstract noun

Question Number : 50 Question Id : 168000350 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The passage below has been given in four parts as options. One of the parts contains an errvor. Choose the option that
has the error:

Options:
1 %

A Russian army helicopter has accidentally fired a rocket at bystanders, according to Russian regional news website 66.RU.
- % It says the incident occurred during a military drill in western Russia on Sunday or Monday.

=
The Russian army acknowledged that the footage was genuine and that a missile had been accidentally fired.

o
But it denied that an incident occurred during the ongoing security exercises. and said no-one had been hurt.

Question Number : 50 Question Id : 168000350 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The passage below has been given in four parts as options. One of the parts contains an error. Choose the option that
has the error:
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Options:
1 %

A Russian army helicopter has accidentally fired a rocket at bystanders, according to Russian regional news website 66.RU.

- % It says the incident occurred during a military drill in western Russia on Sunday or Monday.

=
The Russian army acknowledged that the footage was genuine and that a missile had been accidentally fired.

4
But it denied that an incident occurred during the ongoing security exercises. and said no-one had been hurt.

Question Number : 51 Question Id : 168000351 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

From the options given below, choose the one that replaces the sentence below correctly:

You didn’t tell me we had run out of oil, so I didn’t buy any.
Options:

, w Ifyou had tell me we had run out of oil. I"d have bought some.

> % If youhad told me we had ran out of oil, I"d have bought some.

5 % If youhad told me we had run out of oil. I'd have brought some.

4 I youhad told me we had run out of oil, I'd have bought some.

Question Number : 51 Question Id : 168000351 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

From the options given below, choose the one that replaces the sentence below correctly:

You didn’t tell me we had run out of oil, so I didn’t buy any.
Options:

, % Ifyou had tell me we had run out of oil. I"d have bought some.

- % If youhad told me we had ran out of oil, I"d have bought some.

- % If youhad told me we had run out of oil, I'd have brought some.

4 + I you had told me we had run out of oil. I'd have bought some.

Question Number : 52 Question Id : 168000352 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Choose the aption that affers the correct synonym of the highlighted ward in the sentence given below. Pay attention to the
meaning of the highlighted word in context of the sentence.

Those who emerged from their homes in San Juan after the storm's passing found streets strewn with debris, fallen power
lines and shredded trees.

Options:
1 % frazzled

-  tomnapart

2 ® SEW

4 % ragged

Question Number : 52 Question Id : 168000352 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Choose the option that offers the correct synonym of the highlighted word in the sentence given below. Pay attention to the
meaning of the highlighted word in context of the sentence.

Those who emerged from their homes in San Juan after the storm's passing found streets strewn with debris, fallen power
lines and shredded trees.

Options:
1 % frazzled

-  tornapart

3 ® Sew

4 = ragged

Question Number : 53 Question Id : 168000353 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

From the options given below, fill in the blank with the correct option that has all the adjectives in proper sequence:

As soon as I stepped out of my home. it started to rain, so I opened umbrella.
Options:
, « anenormous red and yellow
- % aredenormous and yellow

- % aredand yellow enormous

, % ayellowenormous and red
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Question Number : 53 Question Id : 168000353 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

From the options given below, fill in the blank with the correct option that has all the adjectives in proper sequence:

As soon as I stepped out of my home. it started to rain, so I opened umbrella.
Options:
, « anenormous red and yellow

-~ % aredenormous and yellow

- % aredand yellow enormous

, » ayellowenormous and red

Question Number : 54 Question Id : 168000354 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Choose from the options given below the one that employvs an appropriate tag question:

All of us should obey the rules.
Options:

1 + shouldn’t we?

> % should we?

= % shouldn’t us?

4 % should us?

Question Number : 54 Question Id : 168000354 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Choose from the options given below the one that employs an appropriate tag question.

All of us should obey the rules.
Options:

1 + shouldn’t we?

- % should we?

= % shouldn’t us?

4 % should us?
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Question Number : 55 Question Id : 168000355 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

From the options given below, choose the one that has the prepositions placed correctly to form a proper sentence:

Options:
I

Rescuers are searching with survivors and there are reports of children trapped in a partly-collapsed school.
=N
Rescuers are searching for survivors and there are reports of children trapped along a partly-collapsed school.

3
Rescuers are searching for survivors and there are reports of children trapped in a partly-collapsed school.

4=
Rescuers are searching for survivors and there are reports of children trapped on a partly-collapsed school.

Question Number : 55 Question Id : 168000355 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

From the options given below, choose the one that has the prepositions placed corrvectly to form a proper sentence:

Options:
M

Rescuers are searching with survivors and there are reports of children trapped in a partly-collapsed school.
="
Rescuers are searching for survivors and there are reports of children trapped along a partly-collapsed school.

3.9
Rescuers are searching for survivors and there are reports of children trapped in a partly-collapsed school.

g4 W
Rescuers are searching for survivors and there are reports of children trapped on a partly-collapsed school.

Question Number : 56 Question Id : 168000356 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T asg FE ¥ T B2
Options:

% TeT +

o v TG + I

i Jear +
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4 ® TG+ I

Question Number : 56 Question Id : 168000356 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Teafy aeg 5 & 7T &2

Options:

L 8 e +
> o Tie + AW
2w T+ B

4 x TG + I

Question Number : 57 Question Id : 168000357 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

‘HTSET e H AT &

Options:

| 3egOreT

4% S5

Question Number : 57 Question Id : 168000357 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

‘HTSET e H AT &
Options:

| v 3T
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Question Number : 58 Question Id : 168000358 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

TS 8@H Heg 7 &' 3§ I F 0T v e g
Options:

1_%#‘3
z.aﬁ?m
3_@1@\?@43
4.%33'1_‘%3-

Question Number : 58 Question Id : 168000358 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Tor@d TOeg 7 &' 57 Iy F BT v e @
Options:

1_33#%“-1'
z.ﬁ?m
S_aﬁé‘s’@a’
4.%33']@%@

Question Number : 59 Question Id : 168000359 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

‘Ul g T TATISTEN 8l B
Options:

1.3331—'5
g_wm
= o Helol

4 ® BT

Question Number : 59 Question Id : 168000359 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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‘TS’ 9MeC T TATASET JAel &

Options:

1 B 3

g_uw
= o JHelol

4 % B4

Question Number : 60 Question Id : 168000360 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

FA-H A HT Fa=r YL 87

Options:

1 ® ‘TfI'EﬂT
- R aﬁ?‘-
HIIF

z B i

4_\-,391%'”‘?1'

Question Number : 60 Question Id : 168000360 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

FA-H g HT T 7Y 87

Options:

1 ® q-‘ﬂ-EﬂT

zﬁaﬁﬁ
AT

z ® 3

4,‘-,;?13'”?1'

Question Number : 61 Question Id : 168000361 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T e &1 feH BT &

Options:
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1_%.$qu-

z_ﬁqm
S.Ma“:‘r

4 % 9Ted

Question Number : 61 Question Id : 168000361 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

e oreg & 3w g ar &

Options:

1_&.319?11"!'

2_&3':"79-
S.ffa"?:

4 % 9IRS

Question Number : 62 Question Id : 168000362 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

afef@a 7 ¥ Fia-ar oa=g am7 22
Options:

1 ® .:E
o> R @FF
s v 87

4&35@

Question Number : 62 Question Id : 168000362 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

TaRa # 9 #ia-ar oa=g am7 22
Options:

1. %

i
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5o 8

4%?@

Question Number : 63 Question Id : 168000363 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

ST HX TFE g 9T FEr 19T 8

Options:

l_wwfmmaﬁl

L OO ALY = HE

5 % Toldl & ATH IS0

L x T el AT HAIH =T

Question Number : 63 Question Id : 168000363 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

AT R THhe gl T gl AT ¢

Options:

l_wgﬂ'\rfmmml

i T AT =T FHA|

5 % oIl & ATH T

L w T Lol gl A =T

Question Number : 64 Question Id : 168000364 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

ST & Sl9-ar ae 959 &?

Options:

1&3@
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23&%
3_%%

4 « Hcd

Question Number : 64 Question Id : 168000364 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

=T & sl9-r o g=2T &7

Options:

1#‘33%
2.%'{&_‘5

3_&3%

4 « Hedl

Question Number : 65 Question Id : 168000365 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

‘UeT 9T T HY Fal &
Options:

1, & Slae

g_ﬁm

2« gis

4. ¢ Gl

Question Number : 65 Question Id : 168000365 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

‘el 9T o7 Y Fal 2
Options:

1. % SICe

o B AT
=% gijig|
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Question Number : 66 Question Id : 168000366 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If n is odd, then (a™ + b™) is divisible by:
Options:
1 % a—bh

> o a+b
3z % aXb

4 & a-+bhb

Question Number : 66 Question Id : 168000366 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

I n v Tawn TEw B, A (o + bt) TFEF gEw Fafea 22

Options:
1 % a—b

> o ath
3 % aXb

g a-+bh

Question Number : 67 Question Id : 168000367 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The average of 12 numbers is 10.8. If the average of the first six numbers is 10 and that of the last seven numbers is 11,
then the 6™ number is:

Options:

1.« 7.2
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Question Number : 67 Question Id : 168000367 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

12 g&ETat & 3Eg 10.8 &1 ot vt 6 et v twg 10 ik 3w 7 st wosma 11, o
TS HET &
Options:

Question Number : 68 Question Id : 168000368 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

An amount of T 1,000 is invested in two types of shares. 15 vields an interest of 9% per annum and ond vields an
interest of 11% per annum. If the total interest at the end of one year is 9.75%, then the amount invested in each share is:

Options:
{ % T615andT 385

> % T620and ¥ 380
s % T630andT 370

4 v T625and T 375

Question Number : 68 Question Id : 168000368 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

1000 A F ol A IR F I AT RS o s f T IR W 9% HraffFs I &
3R gEY W W 1% Ffaerd a1 e ¥ &7 9red iar 81 I I F 3T 7 FoF 9.75% F ;A
greq 2T g, ar Jedeh 9T H fAaer v o ufer

Options:
. % T615 3T 7385
. » T620 3T 380

- » T630 3 7370

4 v T625 3T 7375

Question Number : 69 Question Id : 168000369 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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If Mr. X’s salary was reduced by 25% and subsequently increased by 25%. then X’s percentage loss or gain is:
Options:
1 « 6.25% loss

> ® 1.25% gain
- % 6.25% gain

4 % 7.25%loss

Question Number : 69 Question Id : 168000369 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

aﬁ#xwéaa%%mmﬁmm%&ﬁ?mmzs%aaﬁmm%,Ei‘r)(afrg'ég'rﬁrm
M FT e 2

Options:

. » 6.25% @iy
> % 7.25% ST

- % 6.25% o

. 7.25% @ifer

Question Number : 70 Question Id : 168000370 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Given the equations x* —x —42 =0 and y* — 17y + 72 = 0, x and y satisfy which of the following relations?
Options:

L & X>Y

Question Number : 70 Question Id : 168000370 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

& T RO x2 —x—42=0 AR y2-17y+72=0 HA, x AR y TR 7 T 9w gEy =
M &2

Options:
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Question Number : 71 Question Id : 168000371 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

x varies inversely as a cube of v, given x = 10 and y = 1. The value of x when y = 0.1 is:

Options:
, % 100000

> % 1000
3 % 100

4 « 10000

Question Number : 71 Question Id : 168000371 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

x=103R y=1A I3 VW x, y & TF g9 & e F967 H et g 81 TE = 0.1 &, &«
X T AT gFET:
Options:

. = 100000

. % 1000
- % 100

. + 10000

Question Number : 72 Question Id : 168000372 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The distance between two places A and B is 30 km. A car starts from A and moves towards B with the speed of 60 kmph
along a straight road. At the same time, another car starts from B with the speed of 45 kmph in the same direction.

After how many hours will the car that started from point A overtake the car that started from point B?

Options:

1 *® 1

CAT 2 Steno Typist Hindi CBT 9th Nov 2017 Shift 1



CAT 2 Steno Typist Hindi CBT 9th Nov 2017 Shift 1

Question Number : 72 Question Id : 168000372 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

& T A 3R B & &9 # g 30 5 &1 v #R 60 FFAvEer F 9w @ v el A5 WA € B
F1 3R TAT YE FA 81 3IH FAG, U g FN B ¥ 36 fGen F 45 FAvEger H 9ma @ Fear g%
Fh gl g A ¥ To el FR e oe a1g g B ¥ 9 aet FR F IR R ae?

Options:

1 % 1

3¢ 2

4 % 3

Question Number : 73 Question Id : 168000373 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Vishal and Arun together can build a 6 metre wall in 8 days. If Vishal alone can build the same wall in 16 days, in how
many days can Arun alone build the same wall?

Options:
1 #® 17

> % 16.5
= W 15

4.« 16

Question Number : 73 Question Id : 168000373 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

fremer 3T 30T T Ty e v 6 AieY dan = TAEw 8 G # #w mewa £ I Rere s dEw
F FFor 16 B # a1 TFan &, S HEUT 3F 57 AN F Faa A F 9 gFar 27
Options:

1 % 17

. % 16.5
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Question Number : 74 Question Id : 168000374 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Three pots having same capacities are full of solutions of acid and water. The ratios of acid and water in these pots are
3:2,7:3 and x : v. The contents of these pots are emptied into another pot. If the ratio of acid and water in it is 47 : 43,
then what is x : v?

Options:
1 & 4:11

> % 4:9

Question Number : 74 Question Id : 168000374 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

AT HAGA 1ol A1 To FFel AR I & Foraat & quie: s¥ §1 59 aaat & e AR 9 F
FATT FAI: 302, 7 : 3 3N x: y F1 FF ST T T WHAT F TH Hed @A G H Srer
ST g1 TG 36 Saa H HFer A A F NI 47 1 43 §, A x 1 y F IS FAT g

Options:

1« 4 : 1
- % 4 :9
s % 3 :H
4 % 3:8

Question Number : 75 Question Id : 168000375 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Giri sold an article at a loss of 2 % % . Had he sold it for < 112 more, he would have gained 7 % %. For what price should
he sell it in order to gain 12.5%?

Options:
; % T1,200

5 « T1,260
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- % T1,280

4w T1,290

Question Number : 75 Question Id : 168000375 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

ﬁﬂ#wmaﬁz%%ﬁrmﬁwm|tﬁmﬁgﬁ%ﬂzmﬁwm,ﬁm?%%mml
12.5% &1 & #foad = & BT 30 35 # &9 qrg w0 a9 =nfge?

Options:

% 1,200

, v 1,260
. » 1,280

. 1,290

Question Number : 76 Question Id : 168000376 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A ball of 250 g is moving with a constant velocity in a straight line. A force of 2.0 N is applied for 10 s in the direction
of motion of the ball. The change in the momentum of the ball is:

Options:
; % 50kgm g1

Question Number : 76 Question Id : 168000376 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

250 T F TH g T Wt W@ F TG W T @ 8| g W 2.0 7 F TF a7 10 Hhs oh
3H& T T &Y e F oA Aar g1 € F §EEr H gNaad gem

Options:

. % 5.0 i #r gz
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> % 10 f=m #r ¥z
- % 15 f=m #r dez ]

. v 20 fFar #r A

Question Number : 77 Question Id : 168000377 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A bullet of 0.02 kg is fired horizontally with a velocity of 72 m/s from a pistol of 2.4 kg. The velocity of the pistol after
firing the bullet is:

Options:
1 « —0.6m/s

> % 0.6 m/s

2 ® —12m/s

i

4 % 12m/s

Question Number : 77 Question Id : 168000377 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

2.4 T & Rrdla ¥ wF 0.02 fFam & et afas er # 72 fydsE & 397 ¥ IS AT g1 e
TAT F Fe TS 39T e

Options:

| v —0.6 H/UFE
. % 0.6 H/T%Fs
s = —12 A/AFs

Question Number : 78 Question Id : 168000378 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A boy raises an object of 5 kg through a height of 2 m. The work done by him is:
Options:
1 % 497

> % —49]
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3 o 9817

4 % —987

Question Number : 78 Question Id : 168000378 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

v 5w 5 G T v Ig # 2 ;1 F FA GF 3o g1 3HF @ A T FY g

Options:
, 49 5=
19

1.

o W -49 ELF

3.&"9833[

4-’53_983&-\?-

Question Number : 79 Question Id : 168000379 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Harvinder. whose mass is 40 kg, runs up a flight of stairs having a rise of 4 m in a time of 4.9 s. The rate of work done
by him is:

Options:
;% 160 W

> % 240 W
3 o 320W

4 % 640 W

Question Number : 79 Question Id : 168000379 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

g, e geuaa 40 Fam g, 4 & = Ofear 4.9 ¥%= & Jear 31 38% @ v aw w1 #+
Cogh ¥

Options:

1 % 160 a1

, % 240 T

2« 320 91
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. % 640 T

Question Number : 80 Question Id : 168000380 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The mass of a planet is i the mass of the Earth and its radius is half the radius of the Earth. If a person weighs 300 N on
Earth. his weight on the planet would be:

Options:
1 « 100N
> % 160N

s % 300N

4 % 340N

Question Number : 80 Question Id : 168000380 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

mwmmgﬁ#mmiﬁwﬁﬁmgﬁﬁﬁmﬁmﬁ%mﬁﬁmﬁ?m
T A W 300 7¥eA ¥ °F 9g W 3HE AR g

Options:

Y. 100 ==

, 160 ==
Z. £

. 300 =g
. b

, 340 =qEa
4, -~

Question Number : 81 Question Id : 168000381 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which one of the following can be used as a natural acid-base indicator?
Options:

1 « Turmeric

> % Table salt

=z % Acetone

4 % Wheat flour
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Question Number : 81 Question Id : 168000381 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Sepfcien 3FE-8TR §ao & & H fAeararad # § fF @ g3 fGhar =1 wear 82

Options:

1 v B

3_&?@??'?{

i g FT 3MeT

Question Number : 82 Question Id : 168000382 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

What is the pH value of the aqueous solution containing sodium acetate (CH3;COONa) salt?
Options:
1 # 0

L

2« =7

Question Number : 82 Question Id : 168000382 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

AIfETH vHRRe (CH,COONa) &auT JoFd Seird forerael & o= (pH) Hod 47 grem?

Options:

1_$3|:|

2 >7

Question Number : 83 Question Id : 168000383 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which one of the following is NOT the characteristic feature of metals?

Options:
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, « Electronegativity
- % Formation of basic oxides

5 % Ability to conduct electricity

4 % Ability to form cations

Question Number : 83 Question Id : 168000383 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

el & & Sim-ar aget @ g o w32
Options:

l_ﬁ?ﬁa{‘a___?rm

. « ST HTFHESH & fAHAT

- 'I"EIEE‘H___H =T Al &THA

4 % UATTS AT HI &THAT

Question Number : 84 Question Id : 168000384 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which one of the following metals can displace magnesium from its salts?
(The descending position of metals in the reactivity series is: calcium, magnesium, zinc, iron and lead.)

Options:
1 # Lead

- % Iron
3 % Zinc

4 + Calcium

Question Number : 84 Question Id : 168000384 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

TefaT & & FiF-dr ag 39 FEvt § ¥ SERee Renfe w5 e 82
(FRTTT sfEer & urgat F 3ENE FA W IFR ¢ HlowdH, HAeraaA, e, der A d@m

Options:
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1_331'5!:1'HT
g_ﬁm
Sﬁﬁa

4. v HioerTH

Question Number : 85 Question Id : 168000385 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

What is total number of molecules present in the 2.8 gram of nitrogen gas (N>)?
Options:

; % 6.023 x 105

5 % 2 %6.023 x 108

5 o 6.023 x 102

4 % 6.023 x 102

Question Number : 85 Question Id : 168000385 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

2.8 A A=A 3T (Np) H 3UTea For HUp3T FHr wear astr gem?
Options:

. % 6.023 x 1023
o % 2 x 6.023 x 1023
2 « 6.023 x 1022

4 % 6.023 x 1021

Question Number : 86 Question Id : 168000386 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

What is the smallest gradation of pitch representing the quality of frequency (timbre) in Indian classical music?

Options:
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1 % Swara
- o Sruti
= % Melakarta

w Raga

Question Number : 86 Question Id : 168000386 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

ARAT MET T id & agfea (F9) H uEedr g el = #1 Fa8 sl 9EFH = 87

Options:
1, % FH

it ol

3aﬁmsl'

4.?,$T|1T

Question Number : 87 Question Id : 168000387 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which was the greatest achievement of the Indus Valley Civilisation?
Options:

, « Sophisticated plumbing and sewage system

> % Graphic script

- % Advanced machinery

4, % Number system

Question Number : 87 Question Id : 168000387 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

forey orér Fear $r FEF B ATy F4T o7

Options:

1._{?%?@'%13?%#@?(2@?3?%@)%3%
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. % Ther Tk (Y@= o)
5 % 3edAd T

4 % 3 U

Question Number : 88 Question Id : 168000388 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which Indian state is known as the state of five rivers?
Options:

1 % Jharkhand
- % Kerala
5  Punjab

4 % Himachal Pradesh

Question Number : 88 Question Id : 168000388 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T AT U= &+ 9= AfeHT 9’ T & 9 H ST JAam g7
Options:

1_¥3W§

zlwm
5 v TS

, » TEATIS &

Question Number : 89 Question Id : 168000389 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The central banking functions in India are performed by which of the following?

a. Central Bank of India
b. Reserve Bank of India
¢. State Bank of India
d. The Indian Bank
Options:
1 % 4
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Question Number : 89 Question Id : 168000389 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

TRT H Fearg afeeT w1 eatoad d ¥ Fg & g@rr Bar Jmar g2

a. UooT o 3% =T
b. sRdT e &%

c. IRET T 9%

d. ¢ sfEaw &%
Options:

1 % a

4« b

Question Number : 90 Question Id : 168000390 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which one among the following is NOT included as part of the fundamental rights within the Constitution of India?

Options:

, « Right to Information

- u Right against Exploitation

- % Rightto Freedom

, » Right to Equality

Question Number : 90 Question Id : 168000390 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

qT & U # At 30FRt F 9T F w9 § Aafeg § © For gfEafeg a8 22

Options:
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| o T T HEER

. » 9NUT & fog e
5 % FEIIAT F HEHER

4 % THATAAT F ATTHR

Question Number : 91 Question Id : 168000391 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

‘What the chemical compounds with the same composition (molecular formula) but different shapes (structure) referred
to as?

Options:
, w Polymer
= " Isomer

3 % lonic

4 % Diatomic

Question Number : 91 Question Id : 168000391 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T FaT T TS A & Swer gaes (uifew g9) T8 @ B afed SR (T e g 82
Options:

1 ® tﬁw

5 o 3N§E a1

= % HTOF

4_%?@%

Question Number : 92 Question Id : 168000392 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which country is currently (as of September 2017) producing the world's most expensive coffee?
Options:
1 % Cambodia
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> % China
z % Mexico

4 « India

Question Number : 92 Question Id : 168000392 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

TOAT H FiF-a1 & (AFaT 2017 TF) [T 1 §99 AN HIHT T 36T F & &7

Options:

| % SHaISar
g_wzﬁ?{
gl&m

Question Number : 93 Question Id : 168000393 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

What is the name of the sport in which a ring of iron, rope or rubber is thrown to encircle or land as near as possible to
an upright peg?

Options:
|« Quoits

- % Quidditch
- w Quianring

4 % Quadring

Question Number : 93 Question Id : 168000393 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

36 Wel &1 F4T AF g, 8H Ue dlig, TN U7 @3 & Oool @l T o & A1 4fF | drfr 73 g &
SaaT 9319 27 T 3941 97 Herr F1aT 27
Options:

v T

g_wﬁag%a
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, % FETZT

Question Number : 94 Question Id : 168000394 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Prakash Padukone is an Indian sportsperson of repute associated with which sport?
Options:
1 % Cricket

- » Hockey
= % Tennis

4 + Badminton

Question Number : 94 Question Id : 168000394 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

eRTel AIgeRIvT, ST U Wil SR e B, Fw e @ 33 87

Options:

1.$$m

o W gﬁ
= m
4 oF aﬁm

Question Number : 95 Question Id : 168000395 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

What are the dots over the letters i and j called?
Options:

1 ® Tau

- % Tilde

5 o Tittle

4 % Theta
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Question Number : 95 Question Id : 168000395 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

R | AN | F FR T arer oegyt 77 Fga 87

Options:
1, % dI3

2&.&%?5’
S_Q?'c"l??iﬁ'

4_%3%

Question Number : 96 Question Id : 168000396 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If SPIFA stands for BLADE, then BALE will be coded as

Options:
1 « SIPA

> % PIFA
5 % SIAP

4 % ELAB

Question Number : 96 Question Id : 168000396 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

I SPIFA @ &g BLADE & & BALE =& & T H = &Far e
Options:

, v SIPA

, = PIFA
- % SIAP

. = ELAB

Question Number : 97 Question Id : 168000397 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Complete the analogy.
TREE : ROOT : : HOUSE :
Options:

1 ® SAND

> % BRICK

5 % WALL

4 v FOUNDATION

Question Number : 97 Question Id : 168000397 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

TTERT H T F

-y [ TR+ £
Options:

1 ® i?r
o> R é?.-
T W fﬁﬁ'

4 v &

Question Number : 98 Question Id : 168000398 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

‘Sugarcane’ is related to ‘Field’ in the same way as ‘Steel’ is related to
Options:
1 % mine

- % iron
factory

3. ¢

4 % Wwagon

Question Number : 98 Question Id : 168000398 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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=0 g 9T W ¥ §EfRg g, 38 9N e T geEed gl
Options:

| #% @ald
g_ﬁaﬁg

3 o PIElAl

4.¥3m

Question Number : 99 Question Id : 168000399 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Select the set of letters that, when added as suffix to the letter/set of letters from the image, forms a meaningful English
word.

Options:
1 % INR

-~ « ONE
z R IND

g IRT

Question Number : 99 Question Id : 168000399 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

e & 3T FAE (FH=IE) &1 T94 Y o7 79 BT F WEET-FA F ToIT F & & A A€ A
Fs FIIOT IR M T

Bc% (..)
Options:

. = INR
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5 % IND
4 % IRT

Question Number : 100 Question Id : 168000400 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Select the number that would complete the below number series:

13, 35, 57. 79. 911, 1113, ;

Options:
1 % 1311

> % 1131
3 « 1315

4 % 1351

Question Number : 100 Question Id : 168000400 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

3F HEAT & TAA HL S A & TG FEAT FWell P o7 FHE

13, 36, 57, 79. 811, 1113,

Options:

. % 1311
> % 1131
2 v 1315

L % 1351
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